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Part A

Answer all the twelve questions.

. Find the y-intercept of the line 5y = 35 — 3x.

X x=2'

B Solve = ==
2" 33

_ General form of a linear function is f (x) =

If f(x) = 22 + 3x + 5, then f(a — 2) is ———
. : 5
Identify the domain of f (x)=—.
: Jx

Iff(x) = 6x — 5 ; g (x) = 8x — 3 then (f + &) (x) is ———

Evaluate Lt —;——4—
. x—>4x°-16

State True or False “a polynomial function is continuous”.

Evaluate Lt 5

x—>w X—5

If f = 8x%y* find f, and £,

. Evaluate J’xa dx. 3

Evaluate Ieax dx.

(12 x Y = 3 weightage)
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 PartB
 Answer all the nine questions.
Find the slope of the line joining (1, 7) and (5, 15).
Solve 11x2 + x - 12 =0.
Find the domain and Range of the function y = %
Is the relation x2 + y2 = 1 function ? Justify your answer.

Examine the continuity of f(x) = 14x + 6 at x = 3.

1 x
Find the slope of ¥ =— at(1,1).

dy

Ifx2 + y2 = 1 find
dx

Evaluate _.' 7y . 3
x +

If f = 4x2y3 find f,, at (1, D).

(9 x 1 =9 weigh
Part C

Answer any five questions.

- Solve—b5x+y=—8;6x—y=11.

. Find the equation of a line passing through (- 2, 5) and parallel to y =3x+ 7.
If f (x) = x3 and g (x) = x2 — 2x + 5, find f (g (x)) and g (£ (x)).

Use the delta process to find the derivative of f (x)= Jx at x =16.

Determine whether y = =

(x # 0) is increasing or decreasing at x = 3.

-

Find the 15 order partial derivatives gf—x— and % if f(x, y) = Tx3 (4x + 9y2).

Evaluate I3x2 (3 +7)° dx.

(5 x 2 =10 weig]
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Part D

Answer any two questions.

Revenue function is R = 25 x and cost function is C = 15x + 120, find the break-even point.

x—5; S 2%

Iff(-x)=ac+3 x-1

(x#-3,1) find (f- g) @).

Given the average cost function A = 6Q+9+ %9, find the marginal cost function.

Evaluate [(6x% +8x +3)dx.
Find the cross partialrderivatives f,yand f,, if f= 5x3y2 — 10x2y%.
Evaluate _[xe»" dx.

(2 x 4 = 8 weightage)



